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SR> BN R[PE DO R

4 © OpHCPP [AcS STM32 Debugging]
4 B Opticep

4 P Thread #1 (Suspended : Breakpoint)

'CONTROL TEMPERING TW:reg_pal jag0 ot control_tempering TW.cpp:253 0@03Leca
CONTROL TEMPERING:Control( at control_tempering.cpp:161 0:80312be
‘THREAD_CONTROL:Loop() at threadcontrol.cpp:120 0:80208c8
Cyg_HardwareThread:thread_entry() at thread.coc94 0:8105e3a
Cyg_Scheduleraunlock inner( at sched.c06203 0:8108af8.

B Console 53 ) Tasks (£ Problems

{ /% Caleul du coeff intégral */

#loat fCorr_I = oParameterforControl.m_fKiS_Jacket*(-flacket6ap);

iF (((m_lModulCooling>=100000)88(fCorr_1>0))
11((m_ModulCooling<=0)8&(FCorr_1<8)))

{ 1 To do not increase the T if The output is already saturated */
Corr_T-0;

¥

m_fCorr_T+= fCorr_I;

1 (m_fCorr_I<-50.0F)
m_FCorr_1=-50.0F;

/* Caloul de la dérivée */

m_fCorr_D = oParameterForControl.m_fkds_Jacket*(m_flacketGap-flacketGap)“60;

Float fCorr_PID = m_fCorr_P + m_fCorr_I + m_fCorr_D;

i ]
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Name Velue Descrption B
i s12 0
i s13 01338
A s14 50 @
i s15 413660717
i 516 0 -
« I ] v
g 3
Enter location here anE@se v =0
e e, (e, ) A

addw 3, r3, #1204 ; oxaba
vstr 515, [r3]
1f(m_fCorr_I>50.0F)
e 73, [r7, #4]
addw 3, r3, #1204 ; oxaba
vldr 515, [r3]
Vidr 514, [pc, #556] ; Oxg03leec <CONTROL TEMPERING TW: :
vempe.£32 <15, s14
vars  APSR_nzcv, fpscr
ble.n  @x83lcdd <CONTROL_TEMPERING_TW::reg_pal_jaq()+836>
m_fCorr_1-50.0F;

reg_pal_jaq()+1372>

addw 3, r3, #1204
ldr  r2, [pc, #540]

exaba
(@x3031eF0 <CONTROL_TEMPERING_TW: 1_jaq()+1376>
= T g_pal_jaq|

st r2, (3, %)
if(m_fCorr_T<-50.0F)
3, (7, %) -
Ehl i ] v

BX% BEEREEErE-n-=0

exeserazfc
exeaorazfe
exeae74308
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